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UNIT

(2) ���The frequency of sound waves used in ultrasound imaging range above human 
hearing. ( X )
초음파 형상화에 사용되는 음파의 주파수는 인간의 청력 이상의 범위를 가진다. 

다음 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.

At the beginning of the twenty-first century, the popularity of fine breads and 
pastries are growing even faster than new chefs can be trained. (   )
21세기 초에, 고급 빵과 페이스트리의 인기는 새로운 요리사들이 훈련될 수 있는 것보다 훨씬 더 빠르게 
성장하고 있다. 

대표예제

(1) Many early successes of cinema were adaptations of popular novels. ( O )
영화의 많은 초기 성공 작품들은 인기 많은 소설들을 각색한 것들이었다. 

각 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.step 2

(2) A brilliant curved arc of colors [cross / crosses] the sky.
색깔들의 멋지고 휘어진 둥근 모양이 하늘을 가로지른다.

(1) The primary cause of business failures [is / are] lack of capital. 
사업 실패의 일차적 원인은 자본의 부족이다.

각 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.step 1

The frequency가 단수 - 동사도 단수 ranges가 적절

Many early successes가 복수 - 동사도 복수 were

정답 및 해설 4쪽

유 제

주어 「A of B」 → 동사는 진짜 주어 A와 수일치
비 법

212쪽Workbook

A brilliant curved arc가 단수 - 동사도 단수 crosses

The primary cause가 단수 - 동사도 단수 is

주어: A of B 1

단계별 풀이

● 문제 파악��

● 근거 확인 �

● 정답 도출

단수 is냐 복수 are냐? 
주어의 형태가 「A of B」일 때, 진짜 주어는 A
X. 주어 부분 the popularity of fine breads and pastries에서 진짜 주어는 단수 the 
popularity이므로 동사도 단수 is가 적절.

CHAPTER 1 수일치 
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unit

(A), (B), (C)의 각 괄호 안에서 어법에 맞는 표현으로 가장 적절한 것은?

Today, lighting and appliances create a huge demand for electric power. Fossil 
fuels, one of the main sources of electric power, (A)[is / are] nonrenewable energy 
sources because once they are burned, they are hard to replace. Moreover, carbon 
dioxide gas from burning fossil fuels (B)[is / are] released into the air, which 
contributes to global warming. At this point in time, developing renewable energy 
sources like wind, water, and solar power is necessary. All over the world, people 
are trying to develop ways to use these power sources. However, it is still costly 
to use the renewable energy sources in comparison to fossil fuels. Thus, careful 
planning for a sufficient budget (C)[has / have] to be considered no matter what 
kind of power source is developed.

step 3

The process of job advancement in the field of sports ①are often said to be 
shaped like a pyramid. That is, at the wide base are many jobs with high school 
athletic teams, while at the narrow tip ②are the few, highly desired jobs with 
professional organizations. Thus there are many sports jobs altogether, but the 
competition becomes increasingly tough as one works their way up. The salaries 
of various positions ③reflect this pyramid model. For example, high school football 
coaches are typically teachers who are paid a little extra for their after-class work. 
But coaches of the same sport at big universities ④earn more than $1 million a 
year, causing the salaries of college presidents to look small in comparison. One 
degree higher up ⑤is the National Football League, where head coaches can earn 
many times more than their best-paid campus counterparts.

다음 글의 밑줄 친 부분 중, 어법상 틀린 것은?step 4

(A) Fossil fuels가 복수 - 동사도 복수 are
(B) 진짜 주어 carbon dioxide gas가 단수 - 동사도 단수 is가 적절

(C) 진짜 주어 careful planning이 단수 - 동사도 단수 has가 적절

실 전

진짜 주어 The process가 단수 - 동사도 단수 is

① 
②

③

④

⑤

is	 is	 has
is	 are	 have
is	 are	 has
are	 are	 have
are	 is	 has

(A) (B) (C)
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unit

(2) ��The rest of the guests for the Best Employee Award are expected to arrive after 
10:00 A.M. ( O )
최고의 직원 시상식의 손님들의 나머지는 오전 10시 이후에 도착할 것이라고 예상된다. 

다음 문장의 괄호 안에서 어법상 알맞은 것을 고르시오. 

Most of his patients [was / were] poor farmers who could not always afford to pay 
Dr. Yoon’s small fee.
그의 환자들 중 대부분은, 의사 Yoon의 적은 비용을 늘 지불할 수는 없었던 가난한 농부들이였다.

대표예제

(1) ��About two-fifths of the rubber used in the United States go into tires and tubes.  
( X )
미국에서 이용되는 고무의 약 5분의 2가 타이어와 관으로 들어간다. 

각 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.step 2

(2) Because of the cold weather, some of the water [is / are] freezing.	
추운 날씨 때문에 그 물의 일부가 얼고 있다. 

(1) Most of air [consist / consists] of nitrogen and only some of it is oxygen.
공기의 대부분은 질소로 이루어져있고, 공기의 일부만이 산소이다. 

각 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.step 1

the guests는 복수, The rest of the guests도 복수 - 동사도 are

the rubber은 단수, About two-fifths of the rubber도 단수 - 동사도 goes

정답 및 해설 5쪽

유 제

Most[All, Half, Some, A quarter, The rest] of ~ → ~에 동사의 수일치
비 법

 213쪽Workbook

the water는 단수, some of the water도 단수 - 동사도 is

air는 단수, Most of air도 단수 - 동사도 consists

주어: Most of ~2

단계별 풀이

● 문제 파악  

● 근거 확인  

● 정답 도출

단수 was냐 복수 were냐? 
주어의 형태가 「Most of ~」일 때, ~이 단·복수를 결정
were. his patients가 복수이므로 Most of his patients도 복수이다. 따라서 동사는 were가 적절. 
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unit

(A), (B), (C)의 각 괄호 안에서 어법에 맞는 표현으로 가장 적절한 것은?

Most of the words we use and the meanings we think about (A)[is / are] a 
combination of simpler ideas. Consider a chair. Before you can have an idea of 
a chair, you need to understand that there exist in the world certain functional 
objects. Some of these objects (B)[support / supports] human activity, in this 
case, sitting. Some of them are specialized for sitting at certain high places, like 
bar stools. If you learned about a culture in which a certain type of chair was used 
only for the purpose of sitting while waiting for a bus, you might think this is odd 
but would have no difficulty understanding it. The combination of the concepts 
chair and waiting for bus (C)[allow / allows] you to create the new complex 
concept chair used while waiting for bus. But the basic concept of chair is built 
out of the simpler ideas that we take for granted: object, furniture, sitting.

step 3

In many countries, amongst younger people, the habit of reading newspapers 
①has been on the decline and some of the dollars previously spent on newspaper 
advertising ②has migrated to the Internet. Of course some of this decline in 
newspaper reading ③has been due to the fact that we are doing more of our 
newspaper reading online. We can read the news of the day, or the latest on 
business, entertainment or whatever news on the websites of the New York Times, 
the Guardian or almost any other major newspaper in the world. Increasingly, we 
can access these stories ④wirelessly by mobile devices as well as our computers. 
Advertising dollars ⑤have simply been following the migration trail across to 
these new technologies.

다음 글의 밑줄 친 부분 중, 어법상 틀린 것은?step 4

(A) the words와 the meanings가 복수, Most of ~도 복수 - 동사도 복수 are
(B) these objects가 복수, Some of ~도 복수 - 동사도 복수 support
(C) 진짜 주어 The combination이 단수 - 동사도 단수 allows

실 전

진짜 주어 some of the dollars에서 the dollars가 복수, some of ~도 복수 - 동사도 복수 have

① 
②

③

④

⑤

is	 support	 allow
is	 supports	 allows
are	 support	 allows
are	 supports	 allows
are	 support	 allow

(A) (B) (C)
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unit

(2) ��Merely having goals clearly defined are not sufficient, for one must also know, 
moment by moment, what precisely needs to be done. ( X )
단지 목표들을 명확하게 규정하는 것만으로는 충분하지 않은데, 왜냐하면 사람은 또한 매 순간 정확히 
무엇을 해야 할지 알아야 하기 때문이다.

다음 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.

Adapting novels is one of the most respectable of movie projects, while a book 
that calls itself the novelization of a film is considered barbarous. (   )
소설을 각색하는 것은 영화 프로젝트 중 가장 훌륭한 것들 중 하나인 반면, 스스로를 영화의 소설화로 부르는 
책은 상스럽다고 여겨진다.

대표예제

(1) ��However, even to suggest that these people were happy while in the camp is 
absurd. ( O )
하지만 심지어 이 사람들이 캠프에서 행복했다고 말하는 것은 얼토당토아니하다.

각 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.step 2

(2) Separating what’s important from what’s not important [is / are] prioritizing.
중요한 것을 중요하지 않은 것과 분리하는 것이 우선순위를 정하는 것이다. 

(1) Being assertive [do / does] not have to mean being disagreeable.
확신하는 것이 무례한 것을 의미하는 것은 아니다. 

각 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.step 1

Merely having goals clearly defined가 동명사구로 단수 - 동사도 is

정답 및 해설 6쪽

유 제

동명사구[to 부정사구] 주어 → 단수
비 법

214쪽Workbook

Separating what’s important from what’s not important가 동명사구로 단수 - 동사도 is

Being assertive가 동명사구로 단수 - 동사도 does

주어: ~ing 3

단계별 풀이

● 문제 파악  

● 근거 확인  

● 정답 도출

단수 is냐 복수 are냐? 
동명사구(“~하기, ~하는 것”)는 단수 취급
O. 주어 Adapting novels(소설을 각색하기)가 동명사구로서 단수이므로 동사는 is가 적절.

even to suggest that these people were happy while in the camp가 to부정사구로 단수 - 동사도 is 
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unit

(A), (B), (C)의 각 괄호 안에서 어법에 맞는 표현으로 가장 적절한 것은?

You cannot fit objects that occupied a 5,000-square-foot house in a 
2,000-square-foot condominium. If you are moving to a smaller condominium, 
that’s great. Get rid of your belongings and (A)[buy / buying] the condominium. 
It is fruitless to look at condominiums when you have spent the past 20-odd 
years in a large house and then try to move all of your life into the smaller 
investment. To do so often (B)[lead / leads] to frustration because what you wind 
up purchasing is an expensive warehouse for your furniture, and that is usually 
the wrong investment. If you want to change your lifestyle, you must accept the 
consequences of that decision. Throwing things out only (C)[hurt / hurts] for a 
little while. 

step 3

One of the deepest of all the human hungers ①is the desire to be understood, 
cherished, and honored. Yet, in the fast-paced days we live in, too many people 
believe that ②listening involves nothing more than waiting for the other person 
to stop talking. To make matters worse, while that person is speaking, we are all 
too often using that time to formulate our own response, rather than empathizing 
with the point being made. Taking the time to truly understand another’s point of 
view shows that you value what he has to say and ③cares about him as a person. 
When you start “getting behind the eyeballs” of the person who is speaking and 
try to see the world from his perspective, you will connect with him deeply and 
build high-trust relationships that ④last. We have two ears and one mouth for a 
reason: to listen twice as much as we speak. And having the courtesy to be a better 
listener ⑤has another advantage: since you are not doing all the talking, you are 
doing all the learning, gaining access to information you would have missed had 
you been engaged in the usual monologue. 

다음 글의 밑줄 친 부분 중, 어법상 틀린 것은?step 4

(A) 등위접속사 and가 명령문 Get ~와 buy ~를 연결

(B) To 부정사구(To do so)는 단수 취급 - 동사도 단수 leads
(C) 동명사구(Throwing things out)는 단수 취급 - 동사도 단수 hurts

내용상 that절의 주어 you의 동사 care가 적절. 등위접속사 and가 value ~와 care ~를 연결

① 
②

③

④

⑤

buy	 lead	 hurt	
buy	 leads	 hurts	
buy	 leads	 hurt	
buying	 leads	 hurts	
buying	 lead	 hurt

(A) (B) (C)

실 전
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unit

(2) The cliché that teachers learn as much as their pupil is certainly true. ( O )
교사가 학생들만큼 배운다는 상투적인 말은 틀림없이 사실이다.

다음 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.

People who worry about money all the time always [has / have] money problems.
돈에 대해 늘 걱정하는 사람은 언제나 돈 문제를 가진다. 

대표예제

(1) ��The first country in the world where the techniques for producing silk were 
invented is China. ( O )
비단을 생산하는 기술이 발명됐던 세계 최초의 국가는 중국이다. 

각 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.step 2

(2) ��The artifacts discovered during the road construction [was / were] from an old 
civilization.
 그 도로 공사 중에 발견된 그 인공물들은 고대 문명의 것이었다.

(1) The recent criminal case that involves many people [is / are] investigated.
많은 사람들을 포함하는 최근의 그 범죄 사건이 수사되고 있다. 

각 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.step 1

The cliche가 단수 - 동사도 is

The first country가 단수 - 동사도 is

정답 및 해설 7쪽

유 제

「주어 + 수식 구절 + 동사」 → 주어가 동사의 수를 결정
비 법

215쪽Workbook

The recent criminal case가 단수 - 동사도 is

The artifacts가 복수 - 동사도 were

주어 + wh-4

단계별 풀이

● 문제 파악  

● 근거 확인  

● 정답 도출

단수 has냐 복수 have냐? 
 「주어 + 수식 구절 + 동사」에서 주어가 동사를 수를 결정
have. who worry about money all the time의 수식을 받는 주어 People이 복수이므로 동사도 
have가 적절.
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unit

(A), (B), (C)의 각 괄호 안에서 어법에 맞는 표현으로 가장 적절한 것은?

Nowadays the growth of various social network sites, such as E-World and 
Face-Space, (A)[is / are] impressive. They are ranked the fourth and fifth most 
popular site respectively just behind A-Tube. More than sixty percent of their 
users (B)[post / posts] their personal photos, as many as two million pictures a 
day, making E-World the top photo website in the country. But what many users 
may not realize is that the company owns every photo. In fact, everything that 
people post (C)[is / are] automatically licensed to E-World for its transferable use, 
distribution, or public display. Recently E-World sold all “user content” posted on 
the site to other commercial businesses. Many users unknowingly handed over 
their photos to corporate control.

step 3

Humans usually experience sound as the result of vibrations in air or water. 
Although sound that humans can sense ①is usually carried through these 
media, vibrations can also travel through soil, including rocks. Thus, sound can 
travel through a variety of substances with different densities, and the physical 
characteristics of the medium through which the sound travels ②has a major 
influence on how the sound can be used. For instance, it requires more energy to 
make water vibrate than ③to vibrate air, and it requires a great deal of energy to 
make soil vibrate. Thus, the use of vibrations in communication ④depends on the 
ability of the sender to make a substance vibrate. Because of this, large animals 
such as elephants are more likely than small animals ⑤to use vibrations in the 
soil for communication. In addition, the speed at which sound travels depends on 
the density of the medium which it is traveling through.

다음 글의 밑줄 친 부분 중, 어법상 틀린 것은?step 4

(A) 진짜 주어 the growth가 단수 - 동사도 단수 is
(B) their users가 복수, More than sixty percent of ~도 복수 - 동사도 복수 post
(C) everything이 단수 - 동사도 단수 is

the physical characteristics of the medium through which the sound travels에서 the physical characteristics가 복수 - 
동사도 복수 have

① 
②

③

④

⑤

is	 post	 is
is	 post	 are
is	 posts	 is
are	 posts	 are
are	 posts	 is

(A) (B) (C)

실 전
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unit

(2) ��When the monuments were erected at the foot of the hill are still a mystery 
even to the villagers. ( X )

그 기념물들이 그 언덕 발치에 언제 세워졌는지는 그 마을 사람들에게도 여전히 수수께끼다. 

다음 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.

How we express our emotions affect our mental health. (   )
우리가 어떻게 우리의 화를 표현하느냐가 우리의 정신 건강에 영향을 미친다.

대표예제

(1) Who will be his classmates this year is my brother’s biggest concern. ( O )

올해에는 누가 같은 반 친구들이 될 것인지가 내 남동생의 가장 큰 관심거리다. 

각 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.step 2

(2) ��That boys and girls have different learning styles [has / have] been proven to 
be true. 
남자아이들과 여자아이들이 다른 학습 스타일을 가지고 있음은 사실이라고 증명됐다. 

(1) Whether it’s right or wrong [don’t / doesn’t] matter anymore.
그것이 옳은지 그른지는 더 이상 중요하지 않다.

각 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.step 1

when절은 단수 취급 - 동사는 is

who절은 단수 취급 - 동사도 is

정답 및 해설 8쪽

유 제

that[whether, what, how, ...]절 주어 → 단수
비 법

216쪽Workbook

whether절은 단수 취급 - 동사도 doesn’t

that절은 단수 취급 - 동사도 has

주어: Wh-절5

단계별 풀이

● 문제 파악  

● 근거 확인  

● 정답 도출

단수 affects냐 복수 affect냐? 
주어가 의문사[접속사]가 이끄는 명사절일 때, 단수 취급
X. 주어 how절(How we express our emotions)은 단수 취급하므로, 동사는 affect가 아닌 
affects가 적절.



19Chapter 1  수일치

unit

(A), (B), (C)의 각 괄호 안에서 어법에 맞는 표현으로 가장 적절한 것은?

No matter what we are shopping for, it is not primarily a brand we are choosing, 
but a culture, or rather the people associated with that culture. Whether you wear 
torn jeans (A)[and / or] like to recite poetry, by doing so you make a statement of 
belonging to a group of people. Who we believe we are (B)[is / are] a result of the 
choices we make about who we want to be like, and we subsequently demonstrate 
this desired likeness to others in various and often subtle ways. Artificial as 
this process is, this is what becomes our “identity,” an identity (C)[grounded / 
grounding] on all the superficial differences we distinguish between ourselves and 
others. This, after all, is what we are shopping for: self-identity, knowledge of who 
we are.

step 3

How animals perceive death ①has been a longstanding puzzle. That animals 
understand death and grieve for their losses ②are no longer a question. For 
example, in her Coming of Age with Elephants, biologist Joyce Poole describes 
a mother elephant grieving for a stillborn baby who cried, and ③spent days 
on end desperately trying to revive her child. On another occasion Poole saw 
a troop moving through the forest when one of them fell over and died. The 
elephants spent a long time trying to revive their companion before moving off 
into the jungle, only ④to return the next day for further ceremony. Mark Bekoff, 
a professor of Ecology and Evolutionary Biology at the University of Colorado, 
meanwhile, has observed both magpies and llamas ⑤grieving.

*stillborn: 사산된 

다음 글의 밑줄 친 부분 중, 어법상 틀린 것은?step 4

(A) Whether는 「Whether A or B」라는 양보부사절(A든지 B든지”)의 구문을 이룸

(B) 주어는 명사절(Who we believe we are) 전체로서 단수 취급 - 동사도 단수 is 
(C) an identity와 ground의 관계가 수동 - 과거분사 grounded가 적절

주어 That절은 단수 취급 - 동사도 단수 is

① 
②

③

④

⑤

and	 is	 grounded
and	 are	 grounding
or	 are	 grounded
or	 are	 grounding
or	 is	 grounded

(A) (B) (C)

실 전
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unit

(2) ��And then, he handed her an envelope in which was tucked a fifty-dollar bill. ( O )
그리고 나서 그는 50달러 지폐가 끼워진 봉투 하나를 그녀에게 건넸다. 

다음 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.

Those dangerous spiders which [behave / behaves] like wolves are called wolf 
spiders. 
늑대처럼 행동하는 저 위험한 거미들은 늑대 거미라고 불린다. 

대표예제

(1) ��At no other time in history has so many new discoveries been made as in the 
past one hundred years. ( X )

역사상 다른 어느 때도 과거 백 년 동안만큼 새로운 발견이 그렇게 많이 이뤄진 적이 없었다. 

각 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.step 2

(2) ��Each habitat is the home of numerous species, most of which [depend / 
depends] on that habitat. 
각 서식지는 많은 종들의 안식처인데, 그 종들의 대부분은 그 서식지에 의존한다. 

(1) On top of an octopus’s head [is / are] two large shiny eyes.
문어의 머리 위에는 두 개의 커다랗고 빛나는 눈이 있다. 

각 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.step 1

장소부사구(in which)가 앞에 위치하면서 도치가 된 절, 주어 a fifty-dollar bill가 단수 - 동사도 was

At no other time in history가 문두에 위치하면서 도치가 된 문장, 주어 so many new discoveries가 복수 - 동사는 have

유 제

「선행사 + 주격 관계대명사 + 동사」: 선행사와 동사의 수일치 

「V + S」(도치): 동사와 주어의 수일치

비 법

217쪽Workbook

On top of an octopus’s head가 문두에 위치하면서 도치가 된 문장, 주어 two large shiny eyes가 복수 - 동사도 are

선행사 numerous species가 복수, most of which도 복수 - 동사도 depend

수일치 심화6

단계별 풀이

● 문제 파악  

● 근거 확인  

● 정답 도출

복수 behave냐 단수 behaves냐? 
주격 관계대명사의 동사는 선행사의 수와 일치
behave. which에 해당하는 선행사 Those dangerous spiders가 복수이므로, which의 동사는 
복수 behave가 적절.

정답 및 해설 9쪽



21Chapter 1  수일치

unit

(A), (B), (C)의 각 괄호 안에서 어법에 맞는 표현으로 가장 적절한 것은?

There are no social conventions which (A)[regulate / regulates] our grief at the 
death of an animal. You can throw your cat’s body in the garbage can or bury it 
with a gravestone. It is quite a different situation after the loss of a close family 
member, when some mourning is required to prove your humanity. In general, 
however, there (B)[seem / seems] to be a notion that grief after the loss of an 
animal is suitable for children but not for adults. Mourning a dead pet provides 
children with a useful “rehearsal” for the death of human family members, but (C)
[it is / they are] not considered appropriate for adults because there is a lack of 
social support for the mature person going through such grief.

step 3

One of the very important skills children can be taught via the use of color 
①is that of free expression. Children who are allowed to pick out colors for an 
art project, or select a colored item that will decorate their room ②gain self-
confidence. But, sometimes the colors they pick wouldn’t necessarily be your 
first choice. My granddaughter, Anna at age four purposely chose and wore 
③mismatched socks on a daily basis. The fact that this was allowed, even praised, 
made her feel wonderful about expressing ④herself. Incidentally, it saved 
her parents the time typically spent hunting for sock mates that mysteriously 
⑤disappears in the laundry.

다음 글의 밑줄 친 부분 중, 어법상 틀린 것은?step 4

(A) which는 복수 명사 social conventions를 받으므로 동사도 복수 regulate
(B) there는 유도부사, 주어는 a notion - 동사는 단수 seems
(C) but 뒤에서 동명사구 Mourning a dead pet에 대한 설명이 이어지는데 단수 대명사와 단수 동사 it is로 받는 것이 적절

that은 복수 명사 sock mates를 받고 있으므로 동사도 복수 disappear

① 
②

③

④

⑤

regulate	 seem	 it is
regulate	 seems	 they are
regulate	 seems	 it is
regulates	 seems	 they are
regulates	 seem	 it is

(A) (B) (C)

실 전
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UNIT

(2) ���A measurement system is objective to the extent that two observers evaluate 
the same performance arrive at the same (or very similar) measurements. ( X )
측정 체계는, 동일한 활동을 평가하는 두 명의 관찰자가 동일한 (혹은 매우 비슷한) 측정에 도달하는 
정도만큼 객관적이다. 

다음 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.

Don’t wash the broccoli before storing it since moisture on its surface encouraging 
the growth of mold. (   )
브로콜리를 저장하기 전에 세척하지 말라. 왜냐하면 그것의 표면 위의 물기가 곰팡이의 성장을 조장하기 
때문이다.

대표예제

(1) ���To make the choice to express a feeling by carving a specific form from a rock, 
without the use of high technology or colors, restricting the artist signifi cantly. ( X )
첨단기술이나 색깔을 사용하지 않고 특정 형태를 바위에 새김으로써 감정을 표현하는 선택을 하는 것은 
예술가를 매우 제한하는 것이다.

각 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.step 2

(2) ���The fi rst star [comes / coming] out in the evening is called the Evening Star, 
but, strictly speaking, it is not a star at all; it is a planet.
저녁에 나오는 첫 번째 별은 저녁별이라고 불리지만, 엄밀히 말해서 그것은 별이 전혀 아니다. 그것은 
행성이다. 

(1) ���He fi rmly insisted that returning the money [was / being] the right and only 
thing he could do.
그는 그 돈을 돌려주는 것이 그가 할 수 있는 올바르고 유일한 일이라고 단호하게 주장했다.

각 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.step 1

that절에서 two observers에 이어지는 동사는 arrive, 주어를 수식하는 현재분사 evaluating이 적절

주어 To make the choice ~에 이어지는 동사 - restricts

정답 및 해설 10쪽

유 제

주어에 이어지는 동사: ~ing는 불가능
비 법

218쪽Workbook

that절에서 returning the money에 이어지는 동사가 와야 하므로 was가 적절 

The first star에 이어지는 동사는 is called, 주어 수식하는 현재분사 coming이 적절

동사 / ~ing7

단계별 풀이

● 문제 파악��

● 근거 확인 �

● 정답 도출

동사냐 ~ing냐?
동사 자리에 ~ing 형태는 불가능
X. 접속사 since가 이끄는 절에서 주어 moisture on its surface의 동사가 필요하므로 
encouraging이 아닌 encourages가 적절. 

CHAPTER 2 문장의 동사
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unit

(A), (B), (C)의 각 괄호 안에서 어법에 맞는 표현으로 가장 적절한 것은?

When we don’t want to believe a certain claim, we ask ourselves, “Must I believe 
it?” Then we search for contrary evidence, and if we find a single reason to doubt 
the claim, we can dismiss the claim. Psychologists now have numerous findings on 
“motivated reasoning,” showing the many tricks people (A)[use / using] to reach 
the conclusions they want to reach. When subjects are told that an intelligence 
test gave them a low score, they choose to read articles (B)[criticize / criticizing] 
the validity of IQ tests. When people read a (fictitious) scientific study reporting 
heavy caffeine consumption is associated with an increased risk of breast cancer, 
women who are heavy coffee drinkers (C)[find / finding] more errors in the study 
than do less caffeinated women. 

step 3

Whereas touch, sight, and hearing are mediated by the cerebral cortex, the part 
of the brain responsible for reasoning and intellect, the olfactory nerves ①passing 
impulses directly to the limbic system, the prefrontal part of the brain where 
emotions are formed and memories are stored. Animals that depend upon their 
sense of smell for survival ②have highly developed limbic systems. The limbic 
system is the primitive part of the human brain that ③remains from the period 
of evolutionary history when, like the animals, we too depended on our sense of 
smell for survival. The close relationship between the olfactory nerves and the 
brain’s limbic system ④explains why aromas can produce such startling, powerful 
responses that may resist logic. Such responses are usually immediate and 
sudden, ⑤springing from the depths of the human psyche.

*cerebral cortex: 대뇌 피질 **olfactory: 후각의 

***limbic system: (대뇌의) 변연계(정서·행동 등을 관장하는 신경계)

다음 글의 밑줄 친 부분 중, 어법상 틀린 것은?step 4

(A) 주어 people에 이어지는 동사 - use, people use는 the many tricks를 꾸며주고 있고 관계대명사 목적격 which[that]이 생략

(B) articles와 이를 수식하는 criticize의 관계가 능동 - 현재분사 criticizing 
(C) 주어 women who are heavy coffee drinkers에 이어지는 동사 - find

부사절(Whereas touch ~ intellect) 다음의 주절로서 주어 the olfactory nerves에 이어지는 동사가 필요 - pass가 적절

① 
②

③

④

⑤

use	 criticize	 find
use	 criticizing	 find
use	 criticizing	 finding	
using	 criticizing	 finding	
using	 criticize	 finding	

(A) (B) (C)

실 전
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unit

다음 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.

People younger than 30 who use tanning machines [increase / to increase] their 
risk of skin cancer by 70%. 
태닝 머신을 사용하는 30세 미만의 사람들은 피부암의 위험이 70%만큼 높아진다.

대표예제

정답 및 해설 11쪽

주어에 이어지는 동사: to ~는 불가능
비 법

219쪽Workbook동사 / to ~8

단계별 풀이

● 문제 파악  

● 근거 확인  

● 정답 도출

동사냐 to 부정사냐? 
동사 자리에 to ~ 형태는 불가능
increase. 주어 People younger than 30 (who use tanning machines)에 이어지는 동사가 
필요하므로 increase가 적절. 

(2) ��Toward the end of the American Revolution, she became deeply involved in a 
plot overthrew the king. ( X )
미국 독립혁명이 끝나갈 즈음, 그녀는 왕을 타도할 음모에 깊이 관여하게 됐다. 

(1) ��The tragic conditions pointed out by many critics to produce measures to clean 
up the cities. ( X )

많은 비평가들에 의해 지적된 그 비극적 상황은 그 도시들을 깨끗이 하는 조치들을 낳았다.

각 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.step 2

(2) ��The body rhythms that control sleeping and waking [change / to change] when 
people become teenagers. 
잠자기와 깨기를 조절하는 신체 리듬은 사람들이 십대가 되면 바뀐다. 

(1) ��People who complain about their jobs are surprised [find / to find] that they 
are always having problems at work.
자신들의 일에 불평하는 사람들은 자신들이 직장에서 늘 문제가 있음을 깨닫고서 놀란다. 

각 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.step 1

she에 이어지는 동사 became (deeply involved)가 이미 있으므로 명사 a plot을 수식하는 to overthrow가 적절

The tragic conditions에 이어지는 동사가 필요 - produced

유 제

People에 이어지는 동사 are surprised가 이미 있으므로 감정의 원인을 표현하는 to find가 적절

The body rhythms에 이어지는 동사가 필요 - change
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unit

(A), (B), (C)의 각 괄호 안에서 어법에 맞는 표현으로 가장 적절한 것은?

When people share the same daily, weekly, monthly, and seasonal rhythms, 
connections among them (A)[form / to form] faster and stay stronger. The people 
trust each other more deeply, and coordination becomes easier. After all, they are 
frequently doing the same things and working on the same problems together. 
In fact, several organizations use regular stand-up meetings (B)[maintain / to 
maintain] strong bonds and reinforce a shared mindset. A CEO of a food company 
talks about his short daily meeting with his team. He explains, “The rhythm that 
frequency generates (C)[allows / to allow] relationships to develop, personal 
habits to be understood, and stressors to be identified. All of this helps the 
members of the team understand not only their roles but also how they can get 
the best out of one another.”

step 3

Dependency never goes away; it just becomes more subtle and systemic. 
Without someone ①feeds us, change our diapers, or carry us from place to place, 
we would never survive to grow up. Later, all these forms of help ②fade into the 
background. They no longer look like mommy and daddy ③putting the spoon in 
our mouths. They look like the supermarket, the restaurant, the sewer system, 
the electrical grid, running water, and the emergency room. Help ④becomes 
pervasive and invisible, but it’s still there. For every one thing we think we have 
done on our own, there are a dozen things that had to be provided for us by 
others. We live in a dense fabric of mutual aid. That’s what makes us a social 
species. Even when we go out ⑤to compete in the world for money and praise, we 
never achieve on our own. We build upon parents, relatives, friends, teachers, and 
neighbors who helped along the way. Help is to each of us as water is to the fish.

다음 글의 밑줄 친 부분 중, 어법상 틀린 것은?step 4

(A) connections among them에 이어지는 동사가 필요 - form
(B) several organizations에 동사 use가 이미 있으므로 “~하기 위하여”(목적)의 의미인 to maintain이 적절

(C) The rhythm에 이어지는 동사가 필요 - allows

전치사 Without의 목적어로 someone feeds us 같은 문장이 나올 수 없으므로 “~할”의 의미인 to 부정사로서(to feed) someone
을 뒤에서 꾸며주는 것이 적절

① 
②

③

④

⑤

form 	 maintain	 allows
form	 to maintain	 allows
to form	 to maintain	 allows
to form	 to maintain	 to allow
to form	 maintain	 to allow 

(A) (B) (C)

실 전
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unit

다음 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.

The scientists have been developing a new spacesuit called the “bio-suit.” (   )
그 과학자들은 “bio-suit"라고 불리는 새로운 우주복을 개발해오고 있는 중이다. 

대표예제

정답 및 해설 12쪽

~ed: 동사의 과거형 혹은 과거분사형
비 법

220쪽Workbook동사 / ~ed9

단계별 풀이

● 문제 파악  

● 근거 확인  

● 정답 도출

동사 called냐, 동사가 아닌 called냐?
동사 자리에 to ~ 형태는 불가능
O. called는 동사(“불렀다”)가 아니라 명사 a new spacesuit를 뒤에서 수식하는 과거분사(“불리는”) 
로서 어법상 적절.

(2) ��Jack asked if he could stay up to finish the book since he had only ten more 
pages to go. He allowed to stay up long enough to finish the book. ( X )
Jack은 10쪽만 남았기 때문에 안 자고 그 책을 끝마칠 수 있는지 물었다. 그는 그 책을 다 끝낼 만큼 
충분히 오래 안 자는 것을 허락받았다.

(1) ��We are looking for experienced sales people for our insurance agency. ( O )
우리는 우리 보험영업소에서 일할 경력이 많은 판매 사원을 찾고 있다.

각 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.step 2

(2) ��We’ll have the boardroom [set / is set] up for the meeting.
우리는 회의실이 회의를 위해 준비되도록 할 것이다.

(1) ��The majority of people [interviewed / were interviewed] said they prefer TV to 
radio.
인터뷰에 응한 사람들의 대다수가 TV를 라디오보다 선호한다고 말했다. 

각 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.step 1

He가 ‘허락했던’ 것이 아니라 ‘허락을 받았던’ 것이므로 「be 동사 + allow의 과거분사형」인 수동태 was allowed가 어법상 적절

experienced는 ‘경험이 많은’이란 의미의 형용사 - 명사 sales people을 수식하므로 적절

유 제

주어 The majority of people에 동사 - said, 주어를 뒤에서 수식하는 단어 과거분사 interviewed(인터뷰에 응한, 인터뷰된)가 적
절

동사 have가 이미 있으므로, 별개의 동사 is set이 불필요. 「have + 사물 목적어 + 목적보어(과거분사)」 구문 - 과거분사 set
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unit

(A), (B), (C)의 각 괄호 안에서 어법에 맞는 표현으로 가장 적절한 것은?

We frequently overestimate agreement with others, believing that everyone else 
thinks and feels exactly like we do. This misconception (A)[called / is called] the 
false-consensus effect. Psychologist Lee Ross began studying this in 1977. He 
made a sandwich board with the slogan ‘Eat at Joe’s’ and asked randomly (B)
[selecting / selected] students to wear it around campus for thirty minutes. They 
also had to estimate how many other students would do the task. Those who were 
willing to wear the sign assumed that the majority would also agree to it. On the 
other hand, those who refused (C)[to believe / believed] that most people would 
find it too stupid to do. In both cases, the students imagined themselves to be in 
the majority.

step 3

Early human societies were nomadic, based on hunting and gathering, and, in a 
shifting pattern of life in search of new sources of food, qualities such as lightness, 
portability, and adaptability ①were dominant criteria. With the evolution of 
more settled rural societies based on agriculture, other characteristics, other 
traditions of form appropriate to the new patterns of life, rapidly ②emerged. 
It must be emphasized, however, that tradition was not static, but constantly 
subject to minute variations appropriate to people and their circumstances. 
Although traditional forms ③reflected the experience of social groups, specific 
manifestations could be adapted in various minute and subtle ways to suit 
individual users’ needs. A chair could keep its basic, ④accepting characteristics 
while still being closely shaped in detail to the physique and proportions of a 
specific person. This basic principle of customization allowed a constant stream 
of incremental modifications to be introduced, which, if ⑤demonstrated by 
experience to be advantageous, could be integrated back into the mainstream of 
tradition.

*manifestation: 외적 형태, 표시 **physique: 체격

***incremental: (점진적으로) 증가하는

다음 글의 밑줄 친 부분 중, 어법상 틀린 것은?step 4

(A) This misconception과 동사 call의 관계가 수동 - 수동태 is called
(B) students와 그 명사를 꾸며주는 select의 관계가 수동 - 과거분사 selected
(C) 주어 those who refused에 이어지는 동사가 필요 - believed

characteristics와 이를 꾸며주는 accept의 관계가 수동 - 과거분사 accepted

① 
②

③

④

⑤

called	 selecting	 to believe
is called	 selecting	 to believe
is called	 selecting	 believed
is called	 selected	 believed
called	 selected	 believed

(A) (B) (C)

실 전
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UNIT

다음 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.

Such choices are not made to limit creativity, but rather to cultivate [it / them].  
그런 선택들은 창의력을 제한하기 위한 것이 아니라 오히려 계발하기 위해 이뤄진 것이다.

대표예제

정답 및 해설 13쪽

단수 명사는 단수 대명사로, 복수 명사는 복수 대명사로. 
비 법

221쪽Workbookit / they10

단계별 풀이

● 문제 파악��

● 근거 확인 �

● 정답 도출

단수 it이냐 복수 them이냐?
대명사의 수는 그 대명사가 받는 명사의 수에 의해 결정 
it. 단수 명사 creativity를 받는 대명사가 필요하므로 단수 대명사 it이 적절. 

(2) ���The Greeks’ focus on the salient object and its attributes led to their failure to 
understand the fundamental nature of causality. ( O )
주요 물체와 그 물체의 속성들에 대한 그리스인들의 집중은 인과관계의 근본적인 본질을 이해하는 데 
대한 그들의 실패로 이어졌다. 

(1) ���Children from nearly 50 countries recently met in New York to learn about the 
environment and discuss ways to protect them. ( X )
거의 50개의 나라에서 온 아이들이 환경에 대해 배우고 그것을 보호하는 방법을 토의하기 위해 최근에 
뉴욕에서 만났다. 

각 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.step 2

(2) ���To show his students how math could really help [him / them], he held several 
contests during the year.
학생들에게 어떻게 수학이 진정으로 그들을 도울 수 있는지 보여주기 위해, 그는 그 해에 여러 대회를 
개최했다.

(1) ���Living things exist in a non-living universe and depend on [it / them] in many 
ways.
생명체들은 무생명의 우주 안에 존재하고 여러모로 그것에 의존한다. 

각 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.step 1

단수 명사 the environment - 단수 대명사 it

유 제

단수 명사 a non-living universe - 단수 대명사 it

복수 명사 his students - 복수 대명사 them

복수 명사 The Greeks - 복수 대명사 their

CHAPTER 3 대명사
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unit

(A), (B), (C)의 각 괄호 안에서 어법에 맞는 표현으로 가장 적절한 것은?

Clocks mark the passage of time ― not only of each hour and day, but of whole 
lives. (A)[It is / They are] closely involved in people’s lives. Some people once 
held the superstitious belief that clocks could predict the future of the houses they 
were in. When the rhythm of a clock changed suddenly, (B)[it was / they were] 
considered a sign of approaching death. Many stories have been told of clocks that 
stopped when their owners died. It is a very old custom, in some areas, to stop the 
clocks in a house which (C)[has / have] had a death. This is done to show that the 
person who died no longer has anything to do with time. 

step 3

What could be wrong with the compliment “I’m so proud of you?” Plenty. Just 
as it is misguided to offer your child false praise, it is also a mistake to reward all 
of ①her accomplishments. Although rewards sound so positive, ②they can often 
lead to negative consequences. It is because ③they can take away from the love 
of learning. If you consistently reward a child for her accomplishments, she starts 
to focus more on getting the reward than on what she did to earn ④them. The 
focus of her excitement shifts from enjoying learning itself to pleasing you. If you 
applaud every time your child identifies a letter, she may become a praise lover 
who eventually becomes less interested in learning the alphabet for ⑤its own sake 
than for hearing you applaud. 

다음 글의 밑줄 친 부분 중, 어법상 틀린 것은?step 4

(A) 내용상 앞 문장의 주어인 복수 명사 Clocks에 대한 내용 - They are
(B) the rhythm of a clock changed suddenly 전체의 내용을 받는 대명사가 필요 - 내용은 단수 취급하므로 it was
(C) 주격 관계대명사 which가 받는 선행사는 단수 a house - 단수 has

단수 명사 the reward를 받는 단수 대명사 - it이 적절

① 
②

③

④

⑤

It is	 it was 	 has
It is	 they were	 have
It is	 they were	 has
They are	 they were	 have
They are	 it was	 has

(A) (B) (C)

실 전
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unit

다음 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.

I think my sister was jealous because my earrings were better than her. (   )  
내 생각에 내 여동생은 내 귀걸이가 그녀 귀걸이보다 좋아서 질투가 났던 것이다. 

대표예제

정답 및 해설 14쪽

소유대명사(mine, yours, his, hers, ours, theirs): <소유격 + 명사>
비 법

222쪽Workbookher / hers 11

단계별 풀이

● 문제 파악  

● 근거 확인  

● 정답 도출

소유격 her이냐 소유대명사 hers이냐?
<소유격 + 명사>는 소유대명사로 표현
X. her earrings를 대신하는 소유대명사 hers가 적절. 

(2) ��It’s fun to watch others’ private lives but that’s an invasion of the privacy. ( O )
다른 사람들의 사생활을 보는 것은 재밌지만, 그것은 사생활 침해다.

(1) ��The Greeks believed in the power of men to control their own destinies. ( O )

그리스인들은 자기 자신의 운명을 통제하는 인간의 힘을 믿었다. 

각 문장의 밑줄 친 표현이 어법상 옳으면 O, 틀리면 X라고 표시하시오.step 2

(2) ��Your view exactly coincides with [me / mine].
너의 견해는 내 견해와 정확히 일치한다.

(1) ��The factory needs to automate [it’s / its] production line.
그 공장은 생산 라인을 자동화할 필요가 있다. 

각 문장의 괄호 안에서 어법상 알맞은 것을 고르시오.step 1

men을 대신하는 소유격 their

유 제

  the factory’s를 대신하는 소유격 its

my view를 대신하는 소유대명사 mine

others는 other people을 의미하는데, 복수형의 소유격은 others’처럼 ’s 대신 ’만 붙임




